Discrete Mathematics 44 (1983) 97-104 North-Holland Publishing Company

LANGFORD SEQUENCES: PERFECT AND HOOKED

James E. SIMPSON

Department of Mathematics, University of Kentucky, Lexington, KY 40506, USA

Received 17 March 1981 Revised 10 November 1981

A sequence $\{d, d+1, \ldots, d+m-1\}$ of *m* consecutive positive integers is said to be perfect if the integers $\{1, 2, \ldots, 2m\}$ can be arranged in disjoint pairs $\{(a_i, b_i): 1 \le i \le m\}$ so that $\{b_i - a_i: 1 \le i \le m\} = \{d, d+1, \ldots, d+m-1\}$. A sequence is hooked if the set $\{1, 2, \ldots, 2m-1, 2m+1\}$ can be arranged in pairs to satisfy the same condition. Well known necessary conditions for perfect sequences are herein shown to be sufficient. Similar necessary and sufficient conditions for hooked sequences are given.

The problem of constructing so-called Langford sequences seems to have originated in the work of Th. Skolem [7] who remarked that Steiner triple systems could be constructed from a sequence of integers $1, \ldots, 2m$ if these integers could be arranged in m disjoint pairs (a_i, b_i) , $1 \le i \le m$, such that $b_i - a_i = i$. Skolem, also giving credit to Th. Bang, showed in [7] that $m \equiv 0$ or 1 (mod 4) is a necessary and sufficient condition. In [8] he raised the question of whether sequences of integers $1, \ldots, 2m - 1, 2m + 1$ could be so arranged for the other two cases, $m \equiv 2$ or 3 (mod 4), remarking that this condition is certainly necessary.

One general form of Langford's problem, recast in the notation of Bermond, Brouwer and Germa [2], is to construct a partition of the set $\{1, 2, ..., 2m\}$ into m pairs (a_i, b_i) such that the m numbers $b_i - a_i$, $1 \le i \le m$, are all of the integers in the set $d, d+1, \ldots, d+m-1$. The original Langford problem, which asked for $b_i - a_i = i + 1$ [4], corresponds to d = 2 in this formulation. The case d = 2 was solved completely by Priday [5] and Davies [3], who called such sequences perfect. Davies also solved the corresponding problem of partitioning $\{1, 2, \ldots, 2m-1, 2m+1\}$ so that the differences $(b_i - a_i)$ exhaust the set $\{2, 3, \ldots, m+1\}$, calling such sequences hooked. Examples are most easily displayed by interpreting each pair (a_i, b_i) as giving the positions in the sequences of the first and second appearances of the integer d+i-1, $1 \le i \le m$. Thus $4 \ge 3 \ge 4 \ge 3$ (d=2, m=3) is perfect and 642524635 * 3 (d=2, m=5) is hooked. Generalizations in which more than two copies of each integer appear in the sequence have also been considered. Recent work on that problem and other references may be found in [1] and [6], which incidentally contains a correction to one of the theorems in [1].

0012-365X/83/0000-0000/\$03.00 (C) 1983 North-Holland

In [2] among other places, it is shown that necessary conditions for $(d, \ldots, d+m-1)$ to be perfect are

- (i) $m \ge 2d 1$, and
- (ii) $m \equiv 0$ or 1 (mod 4), for d odd, $m \equiv 0$ or 3 (mod 4) for d even.

These conditions are also shown there to be sufficient for d = 3 and 4. (Skolem had treated d = 1 and Davies d = 2.) Finally, the conditions are shown to be sufficient for $m \equiv 2d - 1 \pmod{4}$, which covers the cases where m is odd. A number of other special cases are handled, but we will subsume them by giving formulas to establish sufficiency for all even values of m satisfying (i).

Theorem 1. The conditions (i) and (ii) given above are necessary and sufficient for the existence of perfect sequences.

Proof. All unsettled cases have $m \equiv 0 \pmod{4}$. Let m = 4t. We use tables similar to those in [2].

	ai	b _i	$b_i - a_i$	0≤j≤
(1)	2t - 3s + 1 - j	2i + s + 2 + j	4s + 1 + 2j	t - 2s - 1
(2)	t - 2s + 1 - j	3t + s + 1 + j	2t + 3s + 2j	t-2s
(3)	6t-s+1-j	6t + 3s + 1 + j	4s+2j	t - 2s - 1
(4)	5t-s+1-j	7t+2s+j	2t + 3s - 1 + 2j	t-2s
(5)	3t - s + 2	5t - s + 2	2t	
(6)	21-j	4t + 1 + j	2t + 1 + 2j	s – 1
(7)	4t - s + 2 + j	6t + s + 2 + 2j	2t + 2s + j	s - 2
(8)	3t + 1 - j	5t+3+j	2t + 2 + 2j	s-2
(9)	3t+s-j	7t + s + 1 + j	4t + 1 + 2j	s-2
(10)	t-s+1-j	5t - s + 3 + j	4t + 2 + 2j	s – 1
(11)	2t - 3s + 2 + j	6t - s + 3 + 2j	4t + 2s + 1 + j	2s - 2
(12)	2t + 1 + j	6t - s + 2 + 2j	4t - s + 1 + j	s – 1
(13)	2t + s + 1	6t + 3s	4t + 2s - 1	—

Case 1. Suppose $d \equiv 0 \pmod{4}$, d = 4s, $s \ge 1$, $t \ge 2s$.

Clearly rows 7, 8 and 9 are to be omitted for s = 1. Similarly, rows 1 and 3 are omitted when t = 2s.

	a _i	b _i	$b_i - a_i$	0≤i≤
(1)	$2^{*}-3s-1-j$	2t + s + 2 + j	4s+3+2j	t-2s-2
(2)	1-2s-j	3t + s + 1 + j	2t + 3s + 1 + 2j	t - 2s - 1
(3)	6t - s - j	6t + 3s + 2 + j	4s + 2 + 2j	t - 2s - 2
(4)	5t-s-1-j	7t + 2s + 1 + j	2t + 3s + 2 + 2j	t - 2s - 2
(5)	5t - s	7t + s + 1	2t + 2s + 1	—
(6)	2t-j	4t + 1 + j	2t + 1 + 2j	s – 1
(7)	4t - s + 1 + j	6r+s+3+2j	2t + 2s + 2 + j	s-2
(8)	3t + 1 - j	5t+1+j	2t+2j	5
(9)	3t+s-j	7t + s + 2 + j	4t+2+2j	s – 2
(10)	t-s-j	5t - s + 1 + j	4t+1+2j	s – 1
(11)	2t-3s+j	6t - s + 2 + 2j	4t + 2s + 2 + j	2s - 1

Case 2. $d \equiv 2 \pmod{4}$. Let d = 4s + 2, $s \ge 1$, $t \ge 2s + 1$.

Case 2. (contd.)

(12)	2t+1+j	6t-s+1+2j	4t-s+i	s-1
(13)	2t + s + 1	6t+3s+1	4t+2s	
(14)	2t-s	6t + s + 1	4t + 2s + 1	
(15)	4t	81	4t	

Rows 7 and 9 are omitted for s = 1. Rows 1, 3 and 4 are omitted when t = 2s + 1. For s = 0, d = 2, see Davies [3].

Case 3. d = 4s - 1, $s \ge 1$, $t \ge 2s$.

	ai	b _i	$a_i - b_i$	0≤j≤
(1)	2t - 3s + 1 - j	2t + s + 1 + j	4s+2j	t - 2s - 1
(2)	t-2s+2-j	3t+s+j	2t + 3s - 2 + 2j	t - 2s + 1
(3)	6ts-j	6t+3s-1+j	4s-1+2j	t-2s
(4)	5t-s+1-j	7t+2s+j	2t + 3s - 1 + 2j	t – 2s
(5)	3t - s + 1	5t - s + 2	2t + 1	
(6)	2t+1-j	4t+1+j	2t+2j	s – 1
(7)	4t-s+2+j	6t + s + 1 + 2j	2t + 2s - 1 + j	s-2
(8)	3t-1-j	5t+2+j	2t+3+2j	s – 3
(9)	3t + s - 1 - j	7t+s+j	4t+1+2j	s – 1
(10)	t-s+1-j	5t - s + 3 + j	4t+2+2j	s – 2
(11)	2t - 3s + 2 + j	6t - s + 2 + 2j	4t + 2s + j	2s - 2
(12)	2t+2+j	6t-s+3+2j	4t - s + 1 + j	s-2
(13)	2t - s + 1	6t - s + 1	4t	

Omit 5, 7, 8, 10 and 12 when s = 1; omit 8 when s = 2; omit 1 for t = 2s. Case 4. d = 4s + 1, $s \ge 1$, $t \ge 2s + 1$.

	ai	b _i	$b_i - a_i$	0≤j≤
(1)	2t - 3s - 1 - j	2t + s + 1 + j	4s+2+2j	t - 2s - 2
(2)	t-2s-j	3t + s + 1 + j	2t + 3s + 1 + 2j	t - 2s - 1
(3)	6t - s - 1 - j	6t + 3s + j	4s + 1 + 2j	t - 2s - 1
(4)	5t-s-j	7t+2s+j	2t + 3s + 2j	t - 2s - 1
(5)	t – s	3t+s	2t + 2s	
(6)	2t+1-j	4t+1+j	2t+2j	s-1
(7)	4t - s + 1 + j	6t + s + 2 + 2j	2t + 2s + 1 + j	s-2
(8)	3t-1-j	5t+j	2t + 1 + 2j	s – 1
(9)	3t + s - 1 - j	7t+s+j	4t + 1 + 2j	s – 1
(10)	t-s-1-j	5t - s + 1 + j	4t + 2 + 2j	s - 2
(11)	2t-3s+j	6t - s + 1 + 2j	+it+2s+1+j	2s-1
(12)	2t + 2 + j	6t - s + 2 + 2j	4t-s+j	s-2
(13)	2t - s + 1	6t – s	4t - 1	******
(14)	2t-s	6t + s	4t + 2s	
(15)	4t	8t	4t	—

Omit 7, 10 and 12 when s = 1. Omit 1 for t = 2s + 1. The case s = 0, d = 1, is covered by Skolem [7].

Following Davies we define a hooked sequence as a sequence $\{d, d+1, \ldots, d+m-1\}$ for which there is a partition of the set $\{1, 2, \ldots, 2m-1, 2m+1\}$ into m pairs (a_i, b_i) such that the m numbers $b_i - a_i$, $1 \le i \le m$ are all of the integers

 $d, d+1, \ldots, d+m-1$. Simple examples are 48574365387 * 6 and 64758463573 * 8, using d=3, m=6. As before, a_i and b_i are interpreted as the two positions in the sequence where $b_i - a_i$ appears.

Theorem 2. Necessary and sufficient conditions for the sequence $\{d, d+1, \ldots, d+m-1\}$ to be hooked are

- (iii) $m(m+1-2d)+2 \ge 0$, and
- (iv) $m \equiv 2 \text{ or } 3 \pmod{4}$ for d odd, $m \equiv 2 \text{ or } 1 \pmod{4}$ for d even.

Proof. Necessity flows from the observation that $D = \frac{1}{4}[m(m+1-2d)+2]$ must be a non-negative integer. This is a consequence of the following computations:

$$\sum_{i=1}^{m} a_i + \sum_{i=1}^{m} b_i = \left(\sum_{j=1}^{2m-1} j\right) + 2m + 1,$$
$$\sum_{i=1}^{m} (b_i - a_i) = \sum_{j=d}^{d+m-1} j = \frac{1}{2}m(m + 2d - 1).$$

Solving for $\sum_{i=1}^{m} a_i$ yields

$$\sum_{i=1}^{m} a_i = \frac{1}{2} [2m^2 + m + 1 - \frac{1}{2}m(m + 2d - 1)] = \frac{1}{4}m(3m - 2d + 3) + \frac{1}{2}.$$

The minimum possible value of $\sum a_i$ would be obtained if $\{a_i\} = \{1, \ldots, m\}$, or if $\sum_{i=1}^{m} a_i = \frac{1}{2}m(m+1)$. The difference D between the calculated value of $\sum a_i$ and this minimum is necessarily a non-negative integer:

$$D = \frac{1}{4}m(3m - 2d + 3) + \frac{1}{2} - \frac{1}{2}m(m + 1) = \frac{1}{4}(m - 2d + 1) + \frac{1}{2}.$$

We remark that the same proof gives the necessary conditions for perfect sequences, except that the final $\frac{1}{2}$ is not present in the expression for D.

Sufficiency is demonstrated by providing tables, as before.

Case 1. Suppose $m \equiv 2d + 1 \pmod{4}$, with $d \ge 3$, so that $m \equiv 2d + 1 + 4r$. Also, let $q \equiv 0$ if $d \equiv 2$ or 3 (mod 4) and $q \equiv 1$ if $d \equiv 0$ or 1 (mod 4). This covers all cases where m is odd, $m \ge 7$. Suppose first that $d \equiv 2e$ is even:

		1		
		<i>D</i> _i	$b_i - a_i$	0≤j≤
(1)	2r + 1 - j	2r+d+1+j	d+2j	r
(2)	r-j	3r+d+3+j	2r + d + 3 + 2j	r – 1
(3)	m + 2r + 1 - j	m + 2r + d + 2 + j	d + 1 + 2j	r-1
(4)	m+r+1-j	m + 3r + d + 3 + j	2r + d + 2 + 2j	r
(5)	3r + d + 2	m + 3r + d + 2	m	
(6)	4r + d + 3	2m + 1	m + d - 1	
(7)	2r + d - j	m + 2r + 2 + j	m - d + 2 + 2j	e - 2
(8)	m – j	2m - d + 3 + j	m - d + 3 + 2i	e – 1
(9)	m-e-1-j	2m-e+3+j	m + 4 + 2j	e-4
(10)	m – e	m + 2r + e + 1	2r + d + 1	
(11)	2r + e	m + 2r + e + 2	m+2	-

C	ase 1. (co	ntd.)		
	a _i	b _i	$b_i - a_i$	0≤j≤
(12)	2r + e + 1 -	·2j m+2r+e+	4+2j m+3+4j	$[\frac{1}{2}(e+1)] - 2$
(13)	2r + e - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 - 2 -	·2j m+2r+e+	3+2j m+5+4j	[<u>1</u> <i>e</i>]−2
(14)	2r+2+q	m+2r+d+	-q m+d-2	

(Here [x] is the 'floor' or greatest integer function of x.) For d odd (d = 2e + 1), replace lines 7 through 13 by:

(7')	2r+d-j	m+2r+2+j	m-d+2+2j	e-1
(8')	m – j	2m-d+3+j	m-d+3+2j	e-2
(9')	m-e-j	2m-e+1+j	m + 1 + 2j	e-2
(10′)	me+1	m+2r+e+3	2r+d+1	_
(11')	2r + e	m+2r+e+2	m+2	
(12')	2r+e+1-2j	m+2r+e+5+2j	m+4+4j	$\left[\frac{1}{2}(e+1)\right] - 2$
(13')	2 r + e - 2 - 2j	m+2r+e+4+2j	m + 6 + 4 j	[<u>1</u> e]−2

Omit 2 and 3 when r = 0. Omit 13' when d = 7. Omit 9 and 13 when d = 6. Omit 12' and 13' when d = 5. For d = 4, besides dropping 9, 12 and 13, replace 8, 10 and 11 by

Omit 8', 9', 11', 12' and 13' for d=3. For $d=2, r \ge 1$, use the perfect 3-to-(m+1) sequence with 2*2 attached. For $d=1, r\ge 2$, use the perfect 3-to-m sequence with 112*2 attached. These may be found in [2, Theorem 1, p. 36], using m'=m-1 or m'=m-2 for m. For r=0, d=2, we have m=5, which may be solved by 252463543*6. Solve r=0, d=1, m=3 by 11232*3. Finally, solve r=1, d=1, m=7 by 2621174635437*5. These special cases are needed because the formulas in [2] do not provide perfect sequences for such small values of m'.

The remaining cases all concern $m \equiv 2 \pmod{4}$. Henceforth $m \equiv 4t+2$. Case 2. Let $d \equiv 4s$, with $t-2s \equiv r \ge 0$.

	a _i	b _i	$b_i - a_i$	0≤j≤
(1)	2r + s + 1 - j	2r + 5s + 1 + j	4s + 2j	r
(2)	r+1-j	3r + 7s + 2 + j	2r + 7s + 1 + 2j	r
(3)	m+2r+3s-j	m + 2r + 7s + 1 + j	4s + 1 + 2j	r – 1
(4)	m+r+s+1-j	m + 3r + 8s + 1 + j	2r + 7s + 2j	r
(5)	m + s	2m + 1	m-s+1	
(6)	2t - 1 - j	m+1+j	2t + 4 + 2j	s-2
(7)	m-s+2+j	m + 2t + s + 3 + 2j	2t + 2s + 1 + j	s – 2
(8)	m-s+1	m + 2t - s + 3	2t + 2	
(9)	3t-i	5t+3+j	2i + 3 + 2j	s – 2
(10)	3t+s-i	m + 3t + s + 1 + i	m + 1 + 2j	s – 1
(11)	3t + s + 1	5t + s + 2	21+1	_
(12)	t-s-i	m+t-s+2+i	m + 2 + 2j	s – 2
(13)	2t + 1 - i	m + 2t - s + 1 + j	m-s+2j	1

	ai	b _i	$b_i - a_i$	0≤j≤
(14)	21+2+j	m + 2t - s + 5 + 2j	m-s+3+j	s-3
(15)	2t+s	m+2t+3s	m+2s	
(16) (17)	2t-3s+3+j 2t-3s+2	m + 2t - s + 4 + 2j m + 2t + s + 1	m+2s+1+j m+4s-1	$\frac{2s-3}{}$

Case 2. (contd.)

Omit 3 when r = 0. Omit 14 for s = 2. For s = 1, omit 6, 7, 9, 12, 14, 15 and 17, and replace 13 and 16 by

(13*)	2t + 1	m+2t	m-1	—
(16*)	2t - 1 + j	m + 2t + 1 + 2j	m+2+j	1

Case 3. Let d = 4s + 1, with $t - 2s = r \ge 0$. Suppose s = 2e is even:

	a _i	b _i	$b_i - a_i$	0≤j≤
(1)	2r+s+2-j	2r + 5s + 3 + j	4s+1+2j	r-1
(2)	r+2-j	3r + 7s + 2 + j	2r + 7s + 2j	r
(3)	m + 2r + 3s + 1 - j	m + 2r + 7s + 3 + j	4s + 2 + 2j	r-1
(4)	m+r+s+1-j	m + 3r + 8s + 2 + j	2r + 7s + 1 + 2j	r-1
(5)	m+s+1	2m+1	m s	
(6)	2t+2-j	m+2+j	2t + 2 + 2j	s-2
(7)	4t - s + 3 + j	m + 2t + s + 1 + 2j	2t + 2s + j	s – 1
(8)	1	m+1	m	_
(9)	3t + 2 - j	m + t + 3 + j	2t + 3 + 2j	s-2
(10)	3t+s+1-j	+3t+s+3+j	m + 2 + 2j	s – 2
(11)	3t - s + 3	m+t-s+2	2t+1	
(12)	t-s+2-j	m + t - s + 3 + j	m + 1 + 2j	s 1
(13)	21+4	m+2t-s+3	m-s-1	<u> </u>
(14)	2t + 5 + j	m + 2t - s + 6 + 2j	m-s+1+j	s-3
(15)	21+3	m + 2t + 3s + 1	m+3s-2	
(16)	2t - 2s + 2 + j	m + 2t + s + 2 + 2j	m+3s+j	S
(17)	2t - s + 3	m+2t-s+2	m-1	_
(18)	2t - 3s + 3	m+2t-s+4	m + 2s + 1	
(19)	2t - 3s + 4 + 2j	m + 2t - s + 7 + 4j	m + 2s + 3 + 2j	e-2
(2t - 3s + 5 + 2j	m + 2t - s + 5 + 4i	m + 2s + 2j	e-2

If s = 2e + 1 is odd, replace lines 18, 19 and 20 by:

(18')	2t - 3s + 4	m + 2t - s + 4	m + 2s	
(19')	2t - 3s + 3 + 2j	m + 2t - s + 5 + 4j	m + 2s + 2 + 2j	e – 1
(20')	2t - 3s + 6 + 2j	m + 2t - s + 7 + 4j	m+2s+1+2j	e – 2

Omit 1, 3 and 4 if r = 0. Omit 20' if s = 3. Omit 14, 19 and 20 if s = 2. For s = 1 omit 6, 9, 10, 14, 17, 18', 19', and 20', and replace 13 and 15 by

	.		h-a	
			n n	united and the second secon
(1)	2r+s+2-j	2r+5s+4+j	4s+2+2j	i 🙀 i strate i gi un i na
(2)	r+2-j	3r+7s+6+j	2r - 7s + 4 + 2j	11 T
(3)	m + 2r + 3s + 2 - j	m + 2r + 7s + 5 + j	4s + 3 + 2j	r-1
(4)	m+r+s+2-j	m + 3r + 8s + 5 + j	2r + 7s + 3 + 2j	r an
(5)	m+s+1	2m + 1	m — s	<u></u>
(6)	2t + 1 - j	m+2+j	2t+3+2j	s-2
(7)	4t - s + 3 + j	m + 2i + s + 2 + 2j	2i + 2s + 1 + j	s – 1
(8)	1	m+1	m	
(9)	3t+1-j	m+t+1+j	2t+2+2j	s – 1
(10)	3t+s+1-j	m+3t+s+2+j	m+1+2j	s – 1
(11)	3t + s + 2	m+t+s+1	2t+1	
(12)	t-s-j	m+t-s+2+j	m+2+2j	s-2
(13)	21+2	m+2t-s+1	4t - s + 1	
(14)	21+3+j	m + 2t - s + 4 + 2j	m-s+1+j	s-2
(15)	2t - s + 2	m + 2t + 3s + 2	m + 4s	
(16)	2t - 3s + 1	m + 2t - s + 2	m + 2s + 1	
(17)	2t - 3s + 2 + 2j	m + 2t - s + 5 + 4j	m+2s+3+2j	s – 1
(18)	2t - 3s + 3 + 2j	m + 2i - s + 3 + 4j	m+2s+2j	s – 1

For s = 0 attach 11 to the hooked 2-to-m sequence (Case 1 above). Case 4. Let d = 4s + 2, with $t - 2s - 1 = r \ge 0$. (The case t = 2s is only possible if t = 0, which is the sequence $2 \cdot 3 \cdot 2 \cdot 3$.)

Omit 3 if r = 0. Omit 6, 12 and 14 if s = 1. For s = 0, which is d = 2, attach 2 * 2 to the corresponding perfect sequence starting with 3, given in [2, p. 36]. Case 5. Let d = 4s + 3, with $t - 2s - 1 = r \ge 0$.

	a _i	b _i	$b_i - a_i$	0≤j≤
(1)	2r+s+2-j	2r + 5s + 5 + j	4s + 3 + 2j	r-1
(2)	r+1-j	3r + 7s + 5 + j	2r + 7s + 4 + 2j	r
(3)	m + 2r + 3s + 2 - j	m + 2r + 7s + 6 + j	4s + 4 + 2j	r-1
(4)	m+r+s+1-j	m + 3r + 8s + 6 + j	2r + 7s + 5 + 2j	r-1
(5)	m+s+1	2m + 1	m-s	
(6)	2t-j	m+1+j	2t+3+2j	s – 1
(7)	m-s+1+j	m + 2t + s + 3 + 2j	2t+2s+2+j	s – 1
(8)	m – s	m+2t-s+2	2t+2	
(9)	3t+1-j	m + t + 3 + j	2t + 4 + 2j	s-2
(10)	3t + s + 1 - j	m + 3t + s + 3 + j	m + 2 + 2j	s — 1
(11)	3t - s + 2	m+t-s+1	2t + 1	
(12)	t-s+1-j	m+t-s+2+j	m+1+2j	S
(13)	2t+2	m+2t-s+1	m-s-1	
(14)	2r+3+j	m+21-s+4+2j	m-s+1+j	s – 1
(15)	2t+1	m + 2t + 3s + 3	m + 3s + 2	
(16)	2t - 3s + 1 + j	m + 2t - s + 3 + 2j	m + 2s + 2 + j	s — 1
(17)	2t-2s+1+j	m+2t+s+4+2j	m + 3s + 3 + j	s – 1

.

Omit 1, 3 and 4 if r = 0. Omit 9 if s = 1. For $r \ge 1$, s = 0, hook 3 * * 3 onto the corresponding hooked 4 to m + 2 sequence (Case 1). Examples for r = 0 = s have already been given. This completes the proof.

The number D that appears in this proof, and its variation for perfect sequences, has a very concrete interpretation. Let positions 1 through m be the first half of the sequence, and the others the second half of the sequence. For some of the integers in $A = \{d, d+1, \ldots, d+m-1\}$, both appearances are in the same half. That is, either $b_i \leq m$ or $a_i > m$. Using (a_j, b_j) as the two locations where $j \in A$ appears, let $Q_1 = \{j \in A : b_j \leq m\}$ and $Q_2 = \{j \in A : a_j > m\}$. Then $D = \sum_{i \in Q_2} a_i - \sum_{i \in Q_1} b_j$. That is, D is the sum of the differences between first location of those j that appear twice in the second half and second location of those j that appear twice in the first half.

It is apparent that the argument for necessity given above could be repeated for constructions required to yield one (or more) gaps in other locations. Each such argument would produce an expression for D leading to conditions like those in Theorems 1 and 2. It seems likely that such conditions would also generally be sufficient, with only a few exceptions for small values of d and m. In fact Priday [5] calls certain sequences looped, and we may modify his definition to fit our notation by saying that $A = \{d, d+1, \ldots, d+m-1\}$ is looped if there is an arrangement of $\{1, 2, \ldots, 2m-1, 2m+2\}$ and an arrangement of $\{1, 2, \ldots, 2m-2, 2m, 2m+1\}$, each satisfying $\{b_i - a_i\} = A$. Both conditions lead to the same value of $D = \frac{1}{4}m(m-2d+1)+1$. For this D to be a non-negative integer is equivalent to (i) and (ii) above, except when this D = 0. One may conjecture therefore that a sequence is perfect iff it is looped, with the following exceptions:

(1) $\{3, 4, 5, 6\}$ is looped (536435 * 46 and 4536435 * * 6) but is not perfect.

(2) $\{1\}$ is perfect but not looped.

Acknowledgement

The author wishes to thank Professors C.C. Wang and Da-Lun Wang for their assistance in the early stages of this research.

References

- [1] G. Baron, Uber Verallgemeinerungen des Langford'schen Problems, Combinatorial Theory and Its Applications, Proc. Conf. at Balatonfured 1969 (North-Holland, Amsterdam 1970) 81-92.
- [2] J.-C. Bermond, A.E. Brouwer and A. Germa, Systèmes de triples et différences associees, Colloq. CNRS, Problèmes combinatoires et théorie des graphes, Orsay 1976 (1978) 35-38.
- [3] R.O. Davies, On Langford's problem (II), Math. Gaz. 43 (1959) 253-255.
- [4] C.D. Langford, Problem, Math. Gaz. 42 (1958) 288,
- [5] C.J. Priday, On Langford's problem (I), Math. Gaz. 43 (1959) 250-253.
- [6] S. Saito and T. Hayasaka, The Langford (4, n)-sequence: a trigonometric approach, Discrete Math. 28 (1979) 81-88.
- [7] Th. Skolem, On certain distributions of integers in pairs with given differences, Math. Scand. 5 (1957) 57-68.
- [8] Th. Skolem, Some remarks on the triple systems of Steiner, Math. Scand. 6 (1958) 273-280.